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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T, "Topt’], ['RH", 'RHopt'], [ ETcl’, ’'optETcl’], ’'LAI’,
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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FRV (ml plant-1)
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P3-1_0, Day=43 (2025-05-11)
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P3-1_0, Day=42 (2025-05-10)

T e g g e S B S g g

100 A

50

200 3

150 -

100 -

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

320

34814

50 A

Warning: lcol [FVI',| "FVO’'] missing
oL 1

Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

800 =

300 -

200

100 A

]
Bylnit @D43 02:42: ET=1271 Fg=1350.0 Ro=136.0

- 2000

- 1000

400

0

1

5

6

7

8

10

11

12

13

14

15

17

20

21

22

23

A

A

A

FA

A

A

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

300 -

200

100 A

ByEt @42 19:07: ET=1625 Fg=1650.0 Ro=nan

400

0

1

2

3

22
4

5

6

7

8

-

9

10

11

.

- 2000

- 1000

16

18

19

20

21

22

23

A

A

FA

A

A

A

FA

A

A

A

%=

ES
5]

=
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

300 -

200

100 A

1.0

i
ByWoFv @D4§ 02:42: ET=1408 Fg=1500.0 Ro=172.0

10

11

12

- 2000

- 1000

17

18

19

20

21

22

23

0.8

A

A

FA

FA

A

A

%=

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0
1500 A

1000 ~

500 -

0

| _obs

—@— PPFD obs

A

30 4

25 -

T

T obs
To_obs

20 A

RHo obs

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



26.

26.

25.

25.

27.

26.

26.

25.

m=475, FV0=0 m=530, FV0=0 m=575, FV0=0

25.5 - —o— ME —o— ME - ME
26.5
26.0 -
25.0 -
24.5 25.5 4 26.0 -
24.0 1
25.0 1 25.5 -
23.5 1
23.0 24.5 -
T T T T T T T T T T T T
600 800 1000 475 480 485 530 535 540 575 580 585
m=635,m FV0=0 m=700,m FV0=0 m=745,m FV0=0 m=795,m FV0=0
—e— WNE —o— M | 2707 —e— ME —o— WNE
5 - 26.0
26.5 -
26.5 -
0 - i
26.0
5 -
25.0 - 25 5 -
25.5 -
07 24.5 25.0 1
25.0 1
24 5 T T T T T T T T T T T T
635 640 645 700 705 710 745 750 755 795 800 805
m=835,m FV0=0 m=880,m FV0=0 m=935,m FV0=0 m=1000m FVO=0
0 —e— ME —o— ME —e— ME 21.5 1 —e— ME
27.0
5 _ 26 5 N 27 0 a
26.5 -
0 - 26.0 - 26.5 -
26.0 -
5 - 26.0
25. 5 - 25.5 -
835 840 845 880 885 890 935 940 945 1000 1005 1010
m m=475,m FV0=0 m=530,m FV0=0 m=575,m FV0=0
1 —e= mw —— MW —— MW —— MW
26 3 24.0 1 - — | 25.5- =
25.0 -
25 - 23.5
245 25.0 7
24 23.0 1
24.0 24.5 4
93 22.5 1
22.0 23.5 1 24.0
22 '
T T T 21.5 4 T T T 23.0 T T T 23.5 T T T
600 800 1000 475 480 485 530 535 540 575 580 585



25.

25.

24.

24,

23.

23.

26.

25.

25.

24.

24.

m=635, FV0=0

—0—

M_W

T T
640 645

m=835,m FV0=0

—0—

M_W

T
840 845

25.

25.

24.

24

23.

23.

26.

25.

25.

24,

24.

m=700, FV0=0

—— MW

700

T T
705 710

m=880,m FV0=0

—— MW

880

885 890

26.

25.

25.

24,

24.

23.

26.

25.

25.

24.

24.

m=745, FV0=0

—0—

M_W

T
745

T T
750 755

m=935,m FV0=0

—0—

M_Ww

T
935

940 945

26.

25.

25.

24

24.

23.

26.

25.

25.

24.

24,

m=793, FV0=0

——

M_W

795

T T
800 805

m=1000m FVO=0

——

M_W

T
1000

T
1005

T
1010




hour

100

9:55 —
80
11:35 -
- 60
12:35 - 40
20
16:35
1 1 1 1 1 1 1 1 1 _O
B K & B K% o & e QLB
& égr ﬁﬁ» & éﬁ“ 4? Q} %gr %gr %5%Q§§? %



P3-1

BfiE) | EBIATK (7)) | ERE (EA/H) | XK EFE

12:35 268 150.0 |/"Fi| (RiR@12:35 Bz GRABIERE)
16:35 268 150.0 |Pemi| {Bik016:35 Ba GRAERER)
23| 536.0 (2R) 300. 0 723 FREC: 2080.0, PH: 6.0

FEREBIEC (2620.0) HiZFEEC (2000.0) REK KA, HHRE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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